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IO APRIRE

TU DORMIRE
IO SEGUIRE

IO MENTIRE

IO MENTIRE

TU PARTIRE
TU SERVIRE
TU OFFRIRE
VOI MENTIRE
NOI SEGUIRE
LORO APRIRE
VOI VESTIRE
LEI DORMIRE
LEI SEGUIRE
VOI DORMIRE
LORO OFFRIRE
LORO SEGUIRE
LORO VESTIRE
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Il presente (-ire verbs)
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TU APRIRE

TU SEGUIRE

IO SERVIRE

IO SENTIRE
VOI APRIRE

TU MENTIRE

IO OFFRIRE

TU MENTIRE
VOI SERVIRE
LEI SERVIRE
LEI MENTIRE
VOI SEGUIRE
NOI OFFRIRE
LEI SENTIRE
VOI OFFRIRE
LORO DORMIRE
LORO SERVIRE
LORO MENTIRE
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TU VESTIRE

IO VESTIRE

IO DORMIRE
NOI APRIRE
LEI APRIRE

IO PARTIRE

TU SENTIRE
LEI OFFRIRE
NOI VESTIRE
NOI DORMIRE
LEI VESTIRE
VOI SENTIRE
NOI MENTIRE
LEI MENTIRE
NOI SENTIRE
LORO PARTIRE
LORO SENTIRE
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Solution
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